New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 0%!021 12:40 Page 1

NEW HOLLAND E
Harvester FX

PARTS
CATALOGUE




New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 03/ 021 12:40 Page 2

STAY. ¥-
FARM SAFE

BALERS & FORAGE WAGONS

WALTERSTHEID «pply

¥ CROSSES g- 3 { YoxEENDSs
ﬁ_‘:l
& WIDE ANGLES , §- §, PTOSHAFTS

,s » PROFILES #. » PTO COVERS

JMC Parts
30 YEARS DELIVERING GENUINE PARTS TO YOU

a o g

m B IRELAND'S LARGEST STOCKIST

JOHN DEERE KVERNELAND
Harvester, Mower, Plough &
Baler & Tractor Parts Power Harrow Parts

NEW HOLLAND KUHN
Harvester & Plough &

Tractor Parts Power Harrow Parts
CLAAS KRONE
Harvester, Mower Mower Parts

&z Baler Parts

Cabct s f @

UK: 01 244 457849 | www.jmcparts.com &F ind 104 WCHMATTIN, RECRASCREENS, ROSSCARRERY, £0. CORX.



‘ New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 03/ 021 12:40 Page 3

NEW HOLLAND Harvester FX

JMC 2

PARTS

CONTENT
345W Pick Up - Product Feeding..........cccceviiiiiiiniiisnnnnnsseeseeeeenees 1
345W Pick Up - Tine Bar......cceeeciiiiiiirrreeecccss e rrsrmsssssss s e e e 2
34A5W AUGET.....ccc i 3-4
Feed Rollers........ooviiiiiiiiiin 5
Cutterhead Knives.........cccooiiieeeeneeeeeeenenn e 6
] 03T 7
£ oo 1 U 1 PP 8
: |
S

CATALOGUE INFORMATION

(Edition December 2020)

This Parts Catalogue is only a Buyers Guide.

No reponsibility for any part number inaccuracies will be upheld.

Call our Sales Team for any queries.




‘ New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 03/ 021 12:40 Page 4

NEW HOLLAND Harvester FX
345W Pick Up - Product Feeding

JMC 2\

PARTS

Key Part No. Description Remarks Qty
1 86620026 Three Corner Bearing Flange 1
2 47066 Bearing Insert with Locking Collar 1
3 80412085 Hex Head Bolt 1
4 86512411 Hexagonal Shaft 1
5 86512412 Cam Track 1
6 86631272 Band on Pick Up 1
DELIVERY: Next Day Ireland ¢ 48 Hour UK Page 1 PHONE: +353(0)23-8838038 » UK: 01244-457849




‘ New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 03/ 021 12:40 Page 5

NEW HOLLAND Harvester FX

345W Pick Up - Tine Bar

Key Part No. Description Remarks Qty
1 136521 Split Pin 6.3 x 50mm 16
2 54695 Tine Bar Bearing Housing 16
3 80680 Lock Washer 3/8" 32
4 88902 Nut 3/8" 32
5 47577168 Bearing on Tine Bar 16
6 280736 Lock Nut 5/16" 76
7 84056924 Cam Bearing 4
8 9847572 Rubber Tine 64
9 88275 Bolt for Rubber Tine 76

10 86631215 Tine Bar 4
DELIVERY: Next Day Ireland ¢ 48 Hour UK Page 2 PHONE: +353(0)23-8838038 * UK: 01244-457849




‘ New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 03/ 021 12:40 Page 6

NEW HOLLAND Harvester FX |
345W Auger J M&\

Key Part No. Description Remarks Qty
1 86512337 Bolt holding cover of Auger 40
2 89849447 Steel Cover on Auger 1
3 86977166 Bar holding Cover 1
4 86631500 Hex Shaft 1
5 80288799 Rubber Holder 20
6 86512337 Bolt holding cover of Auger 40
7 9635082 Nut 5/16" 2
8 100016 Nut M10 18
9 239388 Contact Washer 18
10 80796224 Cover on Auger 1
11 86631750 Shaft on Auger 1

DELIVERY: Next Day Ireland ¢ 48 Hour UK Page 3 PHONE: +353(0)23-8838038 * UK: 01244-457849



‘ New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 03/ 021 12:40 Page 7

NEW HOLLAND Harvester FX P
345W Auger J Mg\\

Key Part No. Description Remarks Qty
12 86627499 Bushing Support 20
13 288797 Bushing Support 20
14 9626568 Nut 1/4" 20
15 80088971 Screw 20
16 84529777 Retractor Tine 20
17 610446 Bearing Flange 5
18 135241 Hex Bearing 3
19 80680 Lock Washer 9
20 80088206 Bolt 3/8" 9
21 86556338 Auger 1

DELIVERY: Next Day Ireland * 48 Hour UK Page 4 PHONE: +353(0)23-8838038 * UK: 01244-457849



‘ New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 03/ 021 12:40 Page 8

NEW HOLLAND Harvester FX JMC 2

Feed Rollers ,«g

Key Part No. Description Remarks Qty
1 84004139 Top Front Feed Roller 1
2 84429119 Top Back Feed Roller 1
3 984073 Smooth Roller 1
4 84038048 Metal Detector Roller 1
5 87591979 Bearing - Top Front LH 1
6 80300633 Circlip 1
7 9835359 Bearing Assy RH 1
8 84058814 Smooth Roller Coupling FX LH 1
9 84004940 Bearing 1
10 84004939 Bearing 1
11 239463.0 Bearing 1

DELIVERY: Next Day Ireland ¢ 48 Hour UK Page 5 PHONE: +353(0)23-8838038 * UK: 01244-457849



‘ New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 03/ 021 12:40 Page 9

NEW HOLLAND Harvester FX

Cutterhead Knives

Key Part No. Description Remarks Qty
1 84068493 Plate under Chopper 1
2 89819423 | Knife Set Set of 2 1

2a 280732 Bolt Holding Knife Heavy Duty 36
3 86503031 Baffle / Support 1
4 84036892 Blade Scraper 1
5 84042945 | Support Under Shearbar 1
6 84062351 Shearbar 1
7 84005239 | Big Door Plate under Chopper 1
8 84038417 Copper Plate under Shearbar 1
9 84005242 | Strap under Knife Set of 2 1
10 84056379 | Stone 1
11 385923 Hex Bolt M16 x 55mm AR
12 84035233 | Support under Knife on Cylinder AR
13 80394631 | Washer M17 x34 x4 AR
14 100020 Nut M16 x 55mm AR
DELIVERY: Next Day Ireland * 48 Hour UK Page 6 PHONE: +353(0)23-8838038 * UK: 01244-457849




‘ New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 03/ 021 12:40 Page 10

NEW HOLLAND Harvester FX

Blower

PARTS

Key | Part No. Description FX Series 48 | FX Series 60 | Remarks | Qty
1 84002448 Transition Piece over Blower 1
2 | 84004583 Upper Band in Blower v 1
2a | 87380168 Wear Plate v 1
3 | 84448151 Extra Back Liner v 1
4 | 84017260 Disc v 1

4a | 84444520 Disc v 1
5 | 84444501 Wear Plate v 1
6 | 84004619 Blower Paddle v 1
6a | 84444493 Blower Paddle v Set of 2 1
7 | 84078162 Wear Strip v 1
7a | 84444494 Wear Strip v 1
8 | 84004410 Blower Band v Outer 1
8a | 84438263 Blower Band v Inner 1
9 [ 84022856 Blower Liner v 1
9a [ 87381143 Blower Belly Band v 1
DELIVERY: Next Day Ireland * 48 Hour UK Page 7 PHONE: +353(0)23-8838038 * UK: 01244-457849




‘ New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 03/ 021 12:40 Page 11

NEW HOLLAND Harvester FX

Spout PARTS
Key Part No. Description Remarks Qty

1 683948 Liner- Back Chute 1

2 84400038 Complete Chute 1

3 8035544 Tension Spring 2

4 84043454 Bushing 4

5 84043453 Bushing 4

6 84032125 Flap 1

DELIVERY: Next Day Ireland * 48 Hour UK

Page 8

PHONE: +353(0)23-8838038 « UK: 01244-457849




New Holland Harvester FX, MASTER 2021 13.01.21_New Holland Harvester 0%!021 12:40 Page 12

\ 2

ks “ha Ny : }/ /
Forage Haruester,

% Mower & Tractor Parts

30 YEARS OF SERVING CONTRACTORS

JMC WORLDWIDE

PARTS

Contact wb/

Tel: +353 (0)23 883 8038 N, A
sales@jmcparts.com

Soov o Door Delivery No Hassle, No Fuss

@ JOHN DEERE MNxronE




